CASBEE%

CASBEE-

CASBEE-NCb_2004v1.4

2006 8 4F
98,866 S
5,831 500
21,977 2,000 /

0.4 Sor 3.1 S 3.1 So3 3.0
Q-1 ’ Q3 |s 5 5
O a 4+ 4 4t
- I 40
3 36 3 2l
28 31 30 30 30
LR-1 LR-3 21| 24 2 1| 25 2
0.4 0.3
1 1 1
LR-2 0.3
LR
S g= 3.3 SLR=0.4*SLR1 + 0.3 * SLR2 + 0.3 * SLR3
LR-1 LR-2 LR-3
SRt 4.0 Sz 3.1 S R3 2.5
5 5 5
50
4 - 4 b 4 b
3 a5 3 24 3
30 30 30 30 30 30
2 b 2 b oL
20 20
1 1 1 2
-2 BEE Building Environmental Efficiency
BEE
BEE=3. BEE=1.5 =
100 3.0 BEE=1.0
A B+
25 (Sg -1) 51 1.2
B- 25 (5-Skr) 44
50 o e e
g . BEEF0.5
: Q=25 (Sq-1) *Sq: Score of Q category
- c SQ =0.3* SQL +0.3*SQ2 + 0.4 * SQ3
0 044 L=25 (5-Sgr) *Sr Score of LR category
0 50 L 100 SLR=0.4*SLR1+0.3*SLR2 + 0.3 * SLR3
B
-1
%
/ / /
co, kg-CO,/ kg-CO,/ kg-CO,/
m¥/ m?/ m¥/
LCCO, kg-CO,/ kg-CO,/ kg-CO,/
LC / / /
LC / / /




